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0.34 0.43 0.25
0.25 0.31 0.42
0.21 0.19 0.25
0.43 0.35 05
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$1.33 $1.43 $1.55
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2100 1900 2500
4300 3500 5000
1000 1500 0.13
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2 W, 2 W,
i=1 i=1
Cx:
Cy:
Pix: i
Py: i
Wi: i
e.g.
(58,96) 400
(80,70) 300
A (30,120) 200
B (90,110) 100
C (127,130) 300
D (65,40) 100
Solution:
(1)
c - 400 x 58 + 300 x 80 + 200 x 30 +100 x 90 + 300 x 127 + 100 x 65 _ 763
X 400 + 300 + 200 +100 + 200 + 100 '
c - 400 x 96 + 300 x 70 + 200 x120 +100 x110 + 300 x130 +100 x 40 98 .1
Y 400 + 300 + 200 + 100 + 300 +100 '

150

e
120  A° B

90" o+

60 o

30" De

0

0 30 60 90 120 150




2 AD

150 C
120 A° - B
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0 30 60 90 12
c - 200 x 58 + 200 x 80 + 100 x 90 + 300 x 127 934
X 200 + 200 +100 + 300 '
c _200><96+200><7O+200><12O+1OO><110+300><13O_104
y 200 + 200 + 100 + 300
E.
e.g. 1,2 (A, B,
C)

A B C
1 17 10 6 30
2 7 12 14 20
25 40 40
A B C
$12 $13 $5
$10 $8 $15

Solution:
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A B C
17 10 6 (30
30
7 12 14 |20
20
10 8 15 |25
5 10 10
25 40 40
600
A B C
17 10 6 (30
10 20
7 12 14 |20
20
12 13 5 |[25
5 20
25 40 40
520
F.
A B A B
01 | 100 60 10 6
005 | 80 80 4 4
0.4 70 90 28 36
0.1 86 92 8.6 9.2
0.2 40 70 8 14
015 | 80 90 12 | 135
1.0 706 | 82.7
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W1 W2 W3 W4
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(Simple Multi-Attribute Rating Technigue SMART)
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A B
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500000 | 300000 4
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50000 20000 4
20000 30000 4
1 2 1
2 3 5
1 6 3
(5 | GIE)G)
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1 3
2 1
3 2
4 8
5 5
6 4
7 9
8 12
9 13
10 14
11 6
12 15
13 11
14 7
15 10
6
7
1 3000 22
2 2500 184
3 2000 14.7
4 1500 11
5 1000 7.3
6 900 6.6
7 800 59
8 700 5.2
9 600 4.4
10 400 29
11 100 0.7
12 50 0.4
13 40 0.3
14 20 0.1
15 10 0.1
13620 100




U(X;) = PUX{) + (1= PU(X?)

0<P<1
X: i U(X , ) =100
XiO i U(X i°) =0
( 3 )
10
85
75¢F
50r \
2 5F
)
5 1015 20 25 303540 465pb
( )
( )
) 0 9 15 7 6 10 12
) 25 20 15 10 10 12 15
*) 7 7 7 8 9 9 6
*) 6 6 10 6 6 5 7
( ) 20 30 60 30 20 10 30
*) 9 8 9 6 6 6 7
/) 40 30 25 30 30 20 30
*) 7 7 9 8 6 6 6
( ) 1 1 2 3 3 2 1
I ) 80 80 100 90 400 60 50
*) 7 6 6 10 10 9 9
) 8 7 6 5 7 4 4
*) 6 6 9 9 10 8 8
) () 5 4 10 6 5 7 9
) 10 10 2 8 10 5 5




94 9 88 98 9 94 92
55 75 8 90 90 88 85
2 72 72 92 9 99 50
0 70 100 77O 70 60 75
62 75 98 75 62 32 75
80 S50 80 30 30 30 40
30 45 55 45 45 68 45
70 70 9 8 60 60 60
7 75 50 25 25 50 75
60 60 62 61 98 2 0

55 45 45 100 100 80 80
10 20 30 35 20 48 48
60 60 9 90 100 80 80
70 3 100 8 70 90 98
45 45 90 S50 45 55 55

20.68 20.9 19.36 21.56 21.78 20.68 20.24
10.12 13.8 15.64 16.56 16.56 16.19 15.64
10.58 10.58 10.58 13.52 14.55 14.55 7.35
7 77 11 77 77 66 825
453 548 7.15 548 453 234 548



528 33 528 198 198 198 264
177 266 325 266 266 401 266
385 38 49 44 33 33 33
33 33 22 11 11 22 33
174 174 18 177 284 006 O
039 032 032 07 07 056 056
004 008 012 014 0.08 019 0.19
018 018 027 027 03 024 024
( ) 007 004 01 0.08 0.07 009 01
005 005 0.09 0.05 0.05 006 0.06
70.28 7398 82.11 77.97 78.2 73.05 70.01
10
(covering model)
e.g.
15
1 2 3 4 5
1
2 10 0
3 20 25 0
4 30 35 15 0
5 30 20 30 15 0
6 20 10 20 25 14

MinimizeZ = X, + X, + X, + X, + X, + X

st X, +X,21
X +X,+ X 21
X;+X,21
X+ X, +X,21
X, + X+ X521
X, + X+ X521

Xi=0orl(i=1,2,3,4,5,6)
Z=2, X,=X,=1LX,=X;=X;=X4;=0
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